LH]

F

od

0]

™~
Ho

LOFZHEA O () 0ff UE LICH.

Sie
g

&g 2t

e

1

S

S

ol
=

fl

2 A&Ex
- o] xjz2=

MEAY 136 =0 A5t %3 5 1 ofsle] MY

E

anbit Academy, Inc.

H2 BreiorFroio




Chapter 03 A5-2A]

3.1

Command Window

>4 =[8B1688B8468:377272]:
>» B = [A(1:2,1:2),zeros(2, 2 ;zerosi 1, 4)]
B =
8 1 0 0
5 4 a a
] ] ] ]
>> B = blkdiag{a(1:2,1:2).zeros(1,2))
B =

3.2

Command Window

=40 =[1 "# 2:34 '+ ; % 56];
= [0,]] = find(h == "§)




3.3

Command Window

== b= [1,2;:-1,-2];
¥ B = [1,1:3.4];
oy o= [2 4]
o= 25, =1
> 00, 0)
ans =

-1
== [Biv']

Error using vertcat
Dimensions of arrays being concatenated are not consistent.
A0, 1) =0

3.4

Command Window

> A1,1F = [1:2];
== A11,2F = {'Cell’, "Array'
= A2.1F = [5 10 18]
» 82,25 = [1 0:0 -1];
== 4
Ay =
2x2 cell array
12=1 double} =2 cell }
{1=3 double} {2= 2 double}
> cellplot(d)
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3.5

Command Window

= A01,10 = 411:2]F;
= A01,2) = {4 Cell’, "hrray }}:
= 402,10 =4[5 10 15]t;
= A02,2) =401 0:0 =11}
== 4
b=
2x2 cell array
12=1 double} 11=2 cell }
{1%3 double} {2x 2 double}
>>= cellplot(4)
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3.6

Command Window
=4 =[8B16:57 468 3:742];
¥ o [ma il = minCa)

m =

5 1 2
i =

2 1 4
*> (M, 0] = max(a)
M=

2 2 B




3.7

Command Window

>4 =[B5B67:1 T94;68432]:
== [m,i] = mina, [].2)
m:

2
1
4
= [M,0] = maxih, [1,2)

3.8

Command Window
>4 =[BBET:1 734643 2];:
»> F_UD = flipud(4)
F_UD =
B 4 3 2
1 7 9 4
g 5 B 7
»> B = fliplr(F_UD)
B =




3.9 (a)

Command Window

=>4 = [1 7 3:4 2 6];

>» H3 = repmat(4,1,3)

H3 =
1 7 3 | 7 3 1 7 3
4 z G L} 4

> Y2 = repmat(H3,2,1)

¥z =
1 7 3 1 7 3 1 7 3
4 2 (=] 4 2 (=] 4 2 (=]
1 i 3 | T 3 1 T 3
4 z G L} 2 G 4 2 G

(b)

Command Window

> 4 = [173:4 2B];

»» HI = [h,4,4]

H3 =
1 T 3 1 T a 1 7 3
4 2 B 4 2 ] 4

»» ¥3 = [H3:H3]

¥3 =

o~ —
P -1 M3 -3
M ol g
o~ —
P -1 M3 -3
lup s B R
o— e —
P -1 M3 -3
lap B B R




3.10

Command Window

=>4 =[1,2,-1,-1:1,2,4,-3;-53,-3.8.-2;-1
e ooo= [-2:5:7:7];
> h_det = det(4)
A_det =
-15.0000
= h_iny = inwid)
A_inw =
-0. 6667 0.8667 -0.0867 -0.6000
-0.6667 -0.3333 -0.6667 1. 0000
-1.0000 0. 2000 —D.ﬁpﬂﬂ 0. 4000
-2.0000  -0.0000 -1.,0000 1. 0000
*x ow o= A_invec
w =
1. 0000
2.00a0
3.000a0
4. 0000

.1.6,-31;




